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Lesson 2-3: Solving Multi-Step Equations

EXERCISE 1
a.  Solvefory: y 3 Sy—8 Get Hha N ‘s -l'oje.-i'hc-Er‘
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Does it matter which step happens first? Let's see what happens with the following example.

Consider the equation 3x + 4 = 8x — 16. Solve for x using the given starting point.

. GROUP 1 [ GROUP 2 GROUP 3 [ GROUP 4
Subtract 3x from both | Subtract 4 from both Subtract 8x from Add 16 to both sides.
sides. sides. both sides.
gg:q 8x-lo dx+H=8x-llb 3x+~(=8§ua 3xX+49=8%
4,[ 3&4/ \v- | -4 -8x {|-8 W+ (U +i
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Therefore, according to this exercise, does it matter which step happens first? Why or why not

No, becouse we aduway's get
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EXERCISE 3

Determine which of the following equations have the same solution set by recognizing properties,
rather than solving. Explain which properties are recognized for each pair.

(a) 2x+3=13;—5x (b) B+4x=-10x+26
z.x=|oi3'5$ 1o (o __": 15

(c) 6x+9=?-x (d) B+4x=-x+26
A DN 13 _

(&) 32x+3)=—=-x (f) 4x=-10x+ 20
Lxxq 5

(g9 15(2x+3)=13-5x (h) 15(2x+3)+97=110-5x

+q7T +97

1S(2x43)497= 1I0-5X,

Answers:

g and h |:>_ngrh'on proper'l-tal_

& ad & |::>d|'s+ribu+\'\se fproper-l:j
o d |:> division property

Subtraction, mult ipRicodiom,
Q ot T |::> Commutative .

additron properdiy: undo — by adding+

Subtraction property: undo + by subtracting —

W\UL‘*\@Q(CQ}(@(\ :Pro?Qx_}\j: undo — b‘j mupd-\'?gcj\'nﬂ .
division ProPQ\‘-\rkj'- ondo - b3 d(\u’&\'ng —
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EXERCISE 4
Solve each equation. Check your solution.
a. jxilaifzto g \[H <
S = 3S 0‘6& 3.3
S 5 O 0.
&=7D X: 55
c. 16 = ? A g ]]_
224 = d- v — v
12 | V42 T2 %7&= 512
R3e=d> 3n=60
3 3

EXERCISE 5

Write an equation and solve.

a. (Elgh1 is subtracted from a nume gpetifferthg, difference is multiplied by 2. The+resultis 24.
Find the number.

N=nombec 2 (N-¥)=24 &e%uo.i,\o\m
’Zn ~Ho T

|+Ho
%Jg =a5 (n=20)

b. CAR RENTAL Angela rented a car for $29.99 a day plus a one-time insurance cost of $5.00.
Her bill was $124.96. For how many days did Sheagl:lt the car?
d 1o\
X= doays zqqu+5 124 20

5\ -5.00

'Z.Qf‘ﬂﬁ = 1199
2294 29 .5%




	Page 1
	Page 2
	Page 3

